Math 107  
Test 2 

Chapter 2
Name_____________________________

1.
Translate from words to symbols:  


The sum of six more than the number x and twice a number x.
(4 points)

2.
Simplify each expression as much as possible.  
(4 pts each)


a.
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3.
Find the value of 
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(4 points)

4.
Find the solution set for each equation.  Write the solution on the line.
(4 pts each)


a.
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               __________
b.
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c.
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5.
Find the solution set for each equation.  Write the solution on the line.
(6 pts each)


a.
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b.
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6.
Use the formula 
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 to find y if x is 0.


(4 points)

7.
Solve 
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 for y.


(6 points)

8.
What number is 86% of 240?


(4 points)

9.
Identify the unknown items.  Then choose the most appropriate unknown to be labeled x and translate the other information in the problem to an expression using x.
(6 pts)


The height is four less than twice the base. 


The unknown items are: ___________________________________________


Let x represent _____________________________


Then _____________________________________
[32]
10.
Solve each inequality and graph each solution.
(8 pts each)


a.
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11.
Stan has a total of 35 nickels and dimes that are worth $2.80  If he has seven more dimes than nickels, how many of each coin does he have? 
(8 pts)


a)  Complete the following chart: 

b)  Write the equation that you would use to solve the problem.  (Do not solve the equation.)

12.
Solve the following compound inequalities.  Graph the solution in each case.
(6 points each)


a.
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b.
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_1014804390.unknown

_1014804689.unknown

_1014805346.unknown

_1316423787.unknown

_1316423856.unknown

_1316423972.unknown

_1014805652.unknown

_1014804869.unknown

_1014805323.unknown

_1014804829.unknown

_1014804549.unknown

_1014804584.unknown

_1014804523.unknown

_1014804325.unknown

_1014804378.unknown

_1014804275.unknown

_999084439.unknown

